(8) OPERATION TEST

PRESS DOWN THE PUSH RAIL TO MAKE SURE
THE DOOR OPENS AND CLOSES/LATCHES CORRECTLY.
D MAKE ANY ADJUSTMENTS AS NEEDED.

=N
i R N
s

NOTE:

TO EXTEND THE LIFE OF EXIT DEVICE,
LOCKTHE LATCH IN THE RETRACTED
POSITION WHEN DOOR IS IN CONTINUOUS USE.

DOGGING DEVICE PUSH RAIL

4 e

I

: <

S

DOGGING KEY

TO UNLOCK

HOLD PUSH RAIL DOWN. TURN DOGGING DEVICE
DEVICE CLOCKWISE WITH DOGGING KEY.

TO LOCK

HOLD PUSH RAIL DOWN. TURN DOGGING DEVICE
COUNTER CLOCKWISE WITH DOGGING KEY.

N\
—_—— T

MED100 SERIES
RIM TYPE EXIT DEVICE




(1) PARTS NAME

IF DOORIS LESS THAN 36", REMOVE
END COVER AND CUT SECTION "A"

BODY TO DESIRED LENGTH.
i / — A
\‘P P\ [
; = { =\
=
PUSH RAIL DOGGING DEVICE $ END COVER
DOGGING WRENCH
HEAD COVER S [
S0
Double Door Strike @
]
ROLLER STRIKE
<
STRIKE SHIM ©
) €)mm - \
1/4"-24P x3/4" (3 PCS) 1/4-20P x 3/4" (6 PCS) ( NotIncluded-Must \
FLAT HEAD ROUND HEAD be ordered separately)

MACHINE SCREWS

( for use on Rim x Vertical
Rod applications)

ENE COVER MOUNTING BRACKET

(4) INSTALL KEY CYLINDER

1.PLACE THE CYINDER INTO THE
HOLE ON THE DOOR

2 .KEEP THE TAILPIECE HORIZONTAL

3.TIGHTEN THE SCREWS

—— 9/32"~15/32"

| ————

TAILPIECE PROJECTION

If required or skip to srep 5

OUTSIDE FACE OF THE DOOR \S

CYLINDER

%

INSTALLATION
SCREWS

(5] INSTALL BODY

1.REMOVE THE HEAD COVER AND
THE SCREWS ON THE END
COVER

2.ALIGN THE SCREW HOLES WITH
THE HOLES ON THE DOOR

3.TIGHTEN THE SCREWS ON THE
BODY AND THE LINING OF END
COVER

NI
/

(2) TYPE OF INSTALLATION

DOUBLE DOOR WITHOUT MULLION

I
TRIM

{l pooR | | DOOR \)
| [ o )-!— é ° (
[ X 17 '
DOUBLE DOOR STIKE
25/8"

SINGLE DOOR DOUBLE DOOR WITH MULLION
{/ ! / , | ] \
DOOR 1 1
- l { DOOR ! U B ! DOOR )
| | |
27/16" 27/16" 27/16"

(3) DRILL HOLES

1.USRTEMPLATE ENCLOSED
TO MARK DOOR FACE AND
DRILL HOLES SHOWN
WITH THE DIAMETERS

2"B"LENGTH SHOULD BE
MEASURED FROM THE
CENTER OF CYLINDER
HOLE TO THE END OF
THE BODY

DRILL & TAP FOR (6) 1/4” X 20P MACHINE SCREWS FOR EXIT DEVICE AND
DRILL & TAP FOR (3) 1/4" X 20P MACHINE SCREWS FOR ROLLER STRIKE.

DOOR JAMB

>

| \
5 N

27/16"

&
<

»
»

INSIDE FACE OF THE DOOR

<:| FOLD HERE FROM JAMB
JL o
pU

M [»9/32"
27/32"

CENTERLINE

421/64" _T_<9_
32532 + — 25/l32”

HOLE MUST BE DRILLED

ACCORDING TO TRIM
TEMPLATE.

FOR MOUNTING
END COVER

N

27/16"

BAA/

NOTTO SCALE

40" ABOVE FLOOR

inside face of the door

(6] INSTALL BOTH HEAD AND END COVER

1.PUT ON THE HEAD COVER AND END COVER
2. TIGHTEN THE MOUNTING SCREWS ON THE HEAD COVER

fro— AND END COVER.

N

R

—_—

INSTALL ROLLER STRIKE

1.CLOSE DOOR AND MARK LATCHBOLT ON
DOOR JAMB WITH A PENCIL.
2.PLACE ROLLER STRIKE ON DOOR JAMB.
ALIGN CENTER OF ROLLER STRIKE WITH
CENTER OF PENCIL MARK. THEN ALIGN
OUTSIDE EDGE OF ROLLER STRIKE WITH
OUTSIDE EDGE OF DOOR JAMB.

0
/1 /

2. ADJUSTABLE

1.JAMB sLoT

3.MARK IN THE CENTER OF 2 ADJUSTABLE SLOT AND DRILL 7/32"
PILOT HOLE AND 1/4"-20P THREAD AT MARKED LOCATIONS THEN
TIGHTEN WITH 1/4"-20P FLAT HEAD SCREWS. OPEN AND CLOSE
DOOR TO CHECK IF LATCHBOLT CAN EXTEND AND RETRACT
PROPERLY. ADJUST ROLLER STRIKE IF NECESSARY.

4.WITH THE ROLLER STRIKE IN FINAL POSITION, DRILL AT THE
CENTER 7/32" PILOT HOLE AND 1/4"-20P THREAD AND TIGHTEN

WITH 1/4"-20P FLAT HEAD.

3.DRILL7/32"
HOLE, TAP
1/4"-20P
THREAD

N
~
N

4.1/4"-20P
FL AT HEAD
SCREW




TEMPLATE FOR
FOLD HERE FROM JAMB
INSTALLING PANIC EXIT DEVICE C Py
_|_

\7 _ N &)

9/32"
Outsj
Ide face of ¢ 27/32"
e dOo,- CENTER LINE

/ 4 21/64" T@}
3 25/32" 25/32"

Drill 1 1/4" for rim cylinder

If without key cylinder installation
do not drill this hole If other tri L ()
re?qﬂ?red rkllole Ir?nus(.)tebe grillzzl " X
according to the desired trim Lo
template provided. ROLLER
STRIKE HOLE MUST BE DRILLED
ACCORDING TO TRIM
TEMPLATE.
B 14
5
+
-l
DOOR JAMB h FOR MOUNTING i
> N N END COVER S
n o
27/16
< ><—/\/\/ B \/W» 2
NOT TO SCALE @
27/16" o =
< > inside face of the door

(A) For RDC5R10 (UL Listed)-Drill & tap for (6) 1/4"x20 machine screws for exit device and drill & tap for (3) 1/4"x20 machine screws

for Roller Strike
(B) For RDA5R00 (Fire Rated)-Drill 9/32" holes inside and 3/8" holes outside for the (6) thru bolts and drill & tap for (3) 1/4"x20 machine

screws for Roller Strike.




ZI INSTALL HEAD COVER AND END COVER

1.PUT ON THE HEAD COVER
AND END COVER.

2.TIGHTEN THE SCREWS
SECURELY ON THE HEAD
COVER AND THE END
COVER.

EI INSTALL ROLLER STRIKE

1.WITH THE DOOR IN THE CLOSED POSITION MARK
THE CENTERLINE OF LATCHBOLT ON DOOR JAMB.
2.PLACE ROLLER STRIKE ON DOOR JAMB.
ALIGN CENTER OF ROLLER STRIKE WITH THE
LATCHBOLT CENTERLINE MARK ON THE JAMB.
THEN ALIGN THE OUTSIDE EDGE OF THE
ROLLER STRIKE WITH THE OUTSIDE EDGE OF
THE DOOR JAMB.

L
jAMB

3.MARK THE CENTER OF THE 2 ADJUSTABLE SLOTTED HOLES AND DRILL
7/32" PILOT HOLES. TAP PILOT HOLES WITH 1/4"-20 THREADS AND
INSTALL MACHINE SCREWS. OR INSTALL SELF TAPPING MACHINE
SCREWS OR WOOD SCREWS IN PILOT HOLES.CLOSE DOOR TO CHECK
IF LATCHBOLT EXTENDS PROPERLY, ADJUST ROLLER STRIKE IF

NECESSARY.

4.WITH ROLLER STRIKE IN FINAL POSITION, DRILL A 7/32" PILOT HOLE FOR
THE CENTER MOUNTING HOLE. TAP PILOT HOLE WITH 1/4"-20 THREADS

AND INSTALL MACHINE SCREW.

ORINSTALL SELF TAPPING MACHINE SCREW OR WOOD SCREW IN

PILOT HOLE.

3.DRILL7/32"
HOLE,TAP 1/4"-20P
THREAD

NOTE: INSTALL STRIKE SHIM UNLESS THE EXIT DEVICE HEAD COVER RUBS THE ROLLER STRIKE.
THEN REMOVE THE STRIKE SHIM TO GAIN ADDITIONAL CLEARANCE.

4.1/4"-20P
FLAT HEAD
SCREW

9] OPERATION TEST

PRESS DOWN THE PUSH RAIL.
OPEN AND CLOSE DOOR A FEW
TIMES AFTER INSTALLATION
COMPLETED

MED 100F SERIES

RIM TYPE EXIT DEVICE
WITH FIRE RATING




1] PARTS NAME

IF YOUR DOOR IS NARROWER THAN 36"
REMOVE END COVER AND CUT SECTION'

4] DRILLHOLES

1.USE TEMPLATE ENCLOSED TO
MARK DOOR FACE AND DRILL
HOLES WITH THE DIAMETERS
SHOWN.

2B"LENGTH SHOULD BE MEASURED
FROM THE CENTER OF CYLINDER
HOLE TO THE END OF THE BODY.

Drill 9/32" holes inside and 3/8” holes
outside for the (6) thru bolts and drill

& tap for (3) 1/4"x20 machine screws for the

Roller Strike.

(OUTSIDE)

@2—7/1 6';
AN

1-1/4"
(INSIDE)

INSIDE FACE OFTHE DORR

ROLLER
STRIKE

<: FOLD HERE FROM JAMB

27/32"

le»19/32"

CENTER LINE

e DO b
N .

{E=
25/32"

HOLE MUST BE DRILLED
ACCORDINGTOTRIM
TEMPLATE.

27/16"

FOR MOUNTING
END COVER

AVAVSS

NOT TO SCALE

40" ABOVE FLOOR

inside face of the door

Rod applications)

S

( for use on Rim x Vertical

“ A "TO A DESIRED LENGTH. END COVER
HEAD COVER
LATCHBOLT PUSH RAIL
Fmm
1/4"-20P x 3/4" (3 PCS)
FLAT HEAD
\ ()
S S 1/4™-20P x3/4"(6 PCS)
S “ { ROUND HEAD
END COVER MOUNTING THRU BOLT (6 PCS) MACHINE SCREWS
BRACKET © Q
— =
STRIKE SHIM ROLLER STRIKE
2] OPTIONAL PARTS CvunDER
LINER
Double Door Strike \ &
<>
<
Q )
= °
( Not Included-Must RING
be ordered separately)
© KEY

7=

1.PLACETHE CYLINDER

INTO THE HOLE ON THE DOOR
2.KEEP THE TAILPIECE HORIZONTAL
3.TIGHTEN THE SCREWS

9/32"~15/32"

TAILPIECE PROJECTION

EI INSTALL CYLINDER (IF REQUIRED)

OUTSIDE FACE OF THE DOOR

CYLINDER

LINE

s

R

INSTALL SCREW
(3/16"-24X1")

EI TYPE OF INSTALLATION

DOUBLE DOOR WITHOUT MULLION

TRIM \

( DOOR i | DOOR
\ | o)—!— LLko | (
/ _/ C
DOUBLE DOOR STRIKE
25/8"

/

SINGLE DOOR

(

|
DOOR i

0

27/16"

DOUBLE DOOR WITH MULLION

/

\

[ ooor [ || oo

1

[T S

276" 276"

6] INSTALL BODY

1.REMOVE THE HEAD COVER AND
END COVER.

2.ALIGN THE SCREW HOLES ON THE
BODY WITH THE HOLES ON THE
DOOR.

3.INSERT SCREW BOLT (6PCS)3/8"
FROM OUTSIDE OF THE DOOR
THEN TIGHTEN THE 1/4”ROUND
HEAD SCREW (6PCS)FROM INSIDE
OF THE DOOR ON THE BODY AND
THE MOUNTING PLATE OF END
COVER.

1/4”ROUND
HEAD SCREW X6




TEMPLATE FOR
FOLD HERE FROM JAMB
INSTALLING PANIC EXIT DEVICE C Py
_|_

\7 _ N &)

9/32"
Outsj
Ide face of ¢ 27/32"
e dOo,- CENTER LINE

/ 4 21/64" T@}
3 25/32" 25/32"

Drill 1 1/4" for rim cylinder

If without key cylinder installation
do not drill this hole If other tri L ()
re?qﬂ?red rkllole Ir?nus(.)tebe grillzzl " X
according to the desired trim Lo
template provided. ROLLER
STRIKE HOLE MUST BE DRILLED
ACCORDING TO TRIM
TEMPLATE.
B 14
5
+
-l
DOOR JAMB h FOR MOUNTING i
> N N END COVER S
n o
27/16
< ><—/\/\/ B \/W» 2
NOT TO SCALE @
27/16" o =
< > inside face of the door

(A) For RDC5R10 (UL Listed)-Drill & tap for (6) 1/4"x20 machine screws for exit device and drill & tap for (3) 1/4"x20 machine screws

for Roller Strike
(B) For RDA5R00 (Fire Rated)-Drill 9/32" holes inside and 3/8" holes outside for the (6) thru bolts and drill & tap for (3) 1/4"x20 machine

screws for Roller Strike.




: INSTALL BOTTOM LATCH UNIT

1.ALIGN VERTICAL CENTER LINE OF BOTTOM
LATCH UNIT AND LOWER CONNECTING TUBE
AS SHOWN ON TEMPLATE MARK DOOR AS

INDICATED ON TEMPLATE(B).

NOTE:BE SURE THE DISTANCE

FROM THE BOTTOM SIDE DOOR TO

THE BOTTOM OF LATCH IS 12/32".

UNIT.

2.TIGHTEN SCREWS TO INSTALL BOTTOM LATCH

* INSTALL AND ADJUST UPPER

CONNECTING TUBE

1.KEEP THE END OF THE TUBE WITH THE THREADED
INSERT UPWARD TO CONNECT IT WITH THE THREADED
BOLT IN THE TOP LATCH UNIT.

2.CONNECT THE OTHER END OF THE TUBE TO THE
INTERNAL MECHANISM OF THE HEAD ASSEMBLY
BY INSERTING THE CONNECTING PIN INTO THE HOLES.

3.TURN AND ADJUST UPPER CONNECTING TUBE
UNTIL TOP LATCH UNIT RETRACTS PROPERLY AND
THEN INSERT THE FIXED PIN.

* INSTALL AND ADJUST LOWER

CONNECTING TUBE
1.KEEP THE END OF THE TUBE WITH THE THREADED

INSERT DOWNWARD TO CONNECT IT WITH THE THREADED
BOLT IN THE BOTTOM LATCH UNIT.

2.CONNECT THE OTHER END OF THE TUBE TO THE INTERNAL
MECHANISM OF THE HEAD ASSEMBLY BY INSERTING THE
CONNECTING PIN INTO THE HOLES.

3.CONNECT BOLT LOWER BOX WITH LOWER
CONNECTING TUBE.
THEN, DEPRESS PUSH RAIL TO CHECK FOR PROPER
RETRACTION.
DO NOT LET BOLT IN LOWER TOECH FLOOR WHILE
DEPRESSING PUSH RAIL

. INSTALL FLOOR STRIKE

1.LET THE BOLT IN THE LOWER BOTTOM LATCH

ASSEMBLY TOUCH THE FLOOR AND MARK ON FLOOR.

2.DRILL A 5/8" DIA, 1" DEEP HOLE.

3.LET THE BOLT IN THE LOWER BOTTOM LATCH
ASSEMBLY INSERT INTO THE CENTER HOLE OF
FLOOR STRIKE AND MARK 3 ANCHOR / SCREW
HOLES ON FLOOR.

4.DRILL 3 ANCHOR / SCREW HOLES, 1/4" DIA, 1 1/8" DEEP.

5.HAMMER 3 ANCHORS INTO 3 ANCHOR / SCREW
HOLES.TIGHTEN UP 3 SCREWS.

@ : TEST PUSH RAIL AND DOGGING
OPERATION

1.THE TOP LATCH UNIT SHOULD ENGAGE THE TOP
STRIKE AND THE BOTTOM LATCH UMIT SHOULD
ENGAGE THE FLOOR STRIKE WHEN THE DOOR IS
CLOSED.IF THE DOOR CAN BE PUSHED
OPEN WITHOUT DEPRESSING THE PUSH RAIL,
THE UPPER CONNECTING TUBE HAS BEEN
OVER ADJUSTED. ADJUST IT AS NEEDED.
2.THETOP AND BOTTOM LATCH UNIT SHOULD
DISENGAGE FROM THE STRIKES FREELY WHEN
THE PUSH RAIL IS DEPRESSED OR DOGGED
DOWN. IF THEY DO NOT DISENGAGE, ADJUST THE
UPPER CONNECTORS AS NEEDED AND RETEST
FOR PROPER OPERATION.

12) : INSTALL TWO ROD GUIDES

1.TAKE THE APPROXIMATELY MIDDLE OF UPPER AND
LOWER CONNECTING TUBE.
2.TIGHTEN SCREWS TO INSTALL ROD GUIDES.

MED200 SERIES
VERTICAL ROD TYPE EXIT DEVICE




PARTS NAME

IF DOOR IS LESS THAN 36", REMOVE
END COVER AND CUT SECTION "A"
TO DESIRED LENGTH.

1/4"-20P x 3/4" (12 PCS)
Round Head

Machine Screws

% DOGGING WRENCH
DOGGING DEVICE mm

PUSH RAIL - 1/4"-20P x 3/4" (6PCS)

HEAD COVER

Flat Head
[Q
S S
Double Dooe Strike
Top Strike
<
Q
©
®
(@) .
End Cover ~
Mounting Connecting
Bracket Tube(Upper)

=

1/4" x 1" (3 PCS)
Anchor

Cmme

5/32"x3/4" (3 PCS)
Flat Head

Wood Screws

-A

Pin (2 PCS)

(]

°

Connecting
Tube(Lower)

DOOR HANDING

Note: If door is LHR, please refer to step 6

Left Hand-Reverse

Orientation

o — T

LH R Outside RH R

(Rigth hand reverse)

(Left hand reverse)

Right Hand-Reverse
Orientation

Fix The Clamp To Connecting
Tube In Midway

27/16"

13/32"

DRILL A HOLE ON FLOOR WITH
5/8" DIA,1"DEEP , AND ALIGN
CENTER OF BOLT IN LOWER BOX.

@ - CENTER LINE ON DOOR
MARK CENTER LINE ON INSIDE OF DOOR. HAVE

THE HORIZONTAL CENTER LINE OF THE DEVICE BY
DRAWING A LINE ACROSS HE DOOR 40” FROM FLOOR

LINE.

@ : DOOR AND DRILL HOLES

1.FOLD AND APPLY TEMPLATE (A) TO EDGE OF DOOR
AND MARK DOOR AS INDICATED ON TEMPLATE (A).
2.DRILL HOLES A X 6 THE DIAMETERS AS INDICATED

ON TEMPLATE (A)

@ : INSTALL DEVICE BODY

1.LOOSEN SCREWS AND REMOVE HEAD COVER AND END
COVER.
2.ALIGN HOLES OF HEAD WITH THE HOLES ON THE DOOR

AND TIGHTEN SCREWS.

@ - INSTALL TOP STRIKE
1.ALIGN VERTICAL CENTER LINE OF TOP STRIKE AND
UPPER CONNECTING TUBE AS SHOWN ON TEMPLATE (B).
MARK DOOR AS INDICATED ON TEMPLATE (B).
2.TIGHTEN SCREWS TO INSTALL TOP STRIKE WITH
PROPER ADJUSTMENT.

@ * INSTALL TOP LATCH UNIT

—_

. ALIGN VERTICAL CENTER LINE OF TOP LATCH UNLT AND
UPPER CONNECTING TUBE AS SHOWN ON TEMPLATE (B).
MARK DOOR AS INDICATED ON TEMPLATE (B).

NOTE: BE SURE THE DISTANCE
FROM DOOR FRAME TO LINE
W MUST BE 2"

2.TIGHTEN SCREWS TO INSTALL TOP LATCH UNLT.

@ : CHANING HANDING OF DEVICE

HANDING OF DEVICE IS PRESET FOR RHR. TO CHANGE
HANDING OF DEVICE, FOLLOW STEPS SHOWN.
1.LOOSEN SCREWS "A” AND REMOVE SCREW

‘B’ AND SPRING 'C".
2.REVERSE THE POSTIONS OF SCREW "B’ AND

SPRING 'C" AND THEN TIGHTEN SCREW "A'.
3.THE DEVICE IS NOW SET FOR LHR.



FOR RDC5R10 USE FOR RDC5V10 USE

FOR RDA5R00 USE - FOR RDA5V00 USE TEMPLATE(A)
2bpa J00p U0 1Y || 39/32"
— " -
e AN N VA 20P3/ 456
|
q v o 5/g" | FLAT HEAD Round Head
A | | | 1/4"-20Px3/4" x 3 /\/
r N Vi || i VA
. I | _
‘papiroid 21e|dwial Wiy paJisap A | : ~ A A 9/32"
a1 01 BuIp1odIe P3|ILP 39 - —~ . e
IS 3joy paiinbas wi JaY10 | _—] | (C{i \\ I[f)U\II:tL;{JA; kf;); cr:;nrfgg? e
2104 SIY [|p 20U Op UohE|Bsul : o A installation do not drill this hole
19pul|Ad A3¥ Inoyum §| #CE/LT I If other trim required hole must
Japullfo w10 /1 L 1IMa | be drilled according to the
| desired trim template provided.
N T | :‘v) P S
V // \\ | «Q // ~ io
N v N
A W / N\ ! e NS b A Y
N / \ | %) / \ A
3 ] \ ] \ <
—— e S -t e —“4———]—— —_—
\ ' \ I
\ / w \ / o~ '
VY B0 / N \ /
P SN @ > S P
o See _- g / Sl | _b- ~ A
) : 11/4" —
27/32"
-— \
JZE6 |y 1 $ |
| Va

N

1.Drill 'C’ screw holes of strike
on door and tighen screws.

|
|
|
|
|
|
: CAUTION: A
|
|
|
|
|
|

2.Drill ‘D" hole after proper
«8/5 T | adjustment and then tighten screw.
peaH punoy I
X, 7/EXd0Z- /1 : Fold on dotted line and
| fit on door edge
3SN 004SYAdY 404 : : 1SN 00ASYQAY 404
SN 01Y¥SOAY 404 L 1SN 0LASDAY 404

40" above floor line

S




TEMPLATE(B-2)

(A)For RDC5V10 Series (UL Listed)-Drill & tap for (6) 1/4"-20P x 3/4"
machine screws (4xD,2xE) for latches.

(B)For RDA5VQO0 Series (Fire Rated)-Drill 9/32" holes (4xD,2xE) inside
and 3/8" holes (4xD,2xE) outside for the (6) thru bolts.

Note: When installing top latch unit;

1. Drill (1) E hole and install screw but
do not tighten all the way.

2. Drill (2) D holes and install and
tighten screws.

3.Tighten screw in hole E all the way.

1/4"-20P x 3/4" x 2

/\ / E Rounp HEAD scREWS

O
< O BOTTOM LATCH
CAUTION : ~
BE SURE THE DISTANCE
FROM BOTTOM SIDE OF D ) q D
DOOR EDGE TO BOTTOM
OF BOTTOM LATCH UNIT Q
MUST BE 13/32” )

P 139/64" ¢

13/32
—>— 26/32"
A
y




TEMPLATE(B-1)

(A)For RDC5V10 Series (UL Listed)-Drill & tap for (6) 1/4"-20P x 3/4" machine screws (4xD,2xE) for latches.
(B)For RDA5VO0O Series (Fire Rated)-Drill 9/32" holes (4xD,2xE) inside and 3/8" holes (4xD,2xE)

outside for the (6)thru bolts.

CAUTION :
BE SURE THE DISTANCE FROM DOOR
FRAME TO LINE W MUST BE 2"

@\

3

1

G a

I~

G 1/4"-20P x 3/4" X 2
FLAT HEAD MACHINE SCREWS

e
N

ku@/

'

- W - _\_ - Frame Stop

FOLD ON DOTTED LINE
AND FIT ON DOOR

FRAME | |
F 1/4"-20P x 3/4" x 1 D D /4"-20Px3/4"x 4
FLAT HEAD MACHINE SCREWS ROUND HEAD SCREWS
CAUTION : DRILL"F"
HOLE AFTER LATCH BOLT v I — - LINEW
PROPERLY WORKS. i
— 139/64" | |—
© O
=
~ — — TOP LATCH
| | N
\/\ 1/4"-20P x 3/4" x 2
Note: When installing tOp latch unit: E ROUND HEAD SCREWS
1. Drill (1) E hole and install screw but
do not tighten all the way.
2. Make sure distance from door frame
to line Wis 2".
3. Drill (2) D holes and install and
tighten screws.
4.Tighten screw in hole E all the way.

A
/ ~— 1"

FOLD REVERSELY FOR
TOP STRIKE INSTALLATION




:INSTALL BOTTOM LATCH UNIT
1.ALIGN VERTICAL CENTER LINE OF BOTTOM
LATCH UNIT AND LOWER CONNECTING TUBE
AS SHOWN ON TEMPLATE MARK DOOR AS

INDICATED ON TEMPLATE(B).

NOTE:BE SURE THE DISTANCE
FROM THE BOTTOM SIDE DOOR TO

THE BOTTOM OF LATCH IS 12/32".

2.TIGHTEN SCREWS TO INSTALL BOTTOM LATCH

UNIT.

:INSTALL AND ADJUST UPPER CONNECTING TUBE

1.KEEP THE END OF THE TUBE WITH THE THREADED
INSERT UPWARD TO CONNECT IT WITH THE THREADED
BOLT IN THE TOP LATCH UNIT.

2.CONNECT THE OTHER END OF THE TUBE TO THE
INTERNAL MECHANISM OF THE HEAD ASSEMBLY
BY INSERTING THE CONNECTING PIN INTO THE
HOLES.

3.TURN AND ADJUST UPPER CONNECTING TUBE
UNTIL TOP LATCH UNIT RETRACTS PROPERLY
AND THEN FIX THE CONNECTING PIN BY BENDING
2 ENDS.

:INSTALL AND ADJUST LOWER
CONNECTING TUBE

1.KEEP THE END OF THE TUBE WITH THE THREADED
INSERT DOWNWARD TO CONNECT IT WITH THE THREADED
BOLT IN THE BOTTOM LATCH UNIT

2.CONNECT THE OTHER END OF THE TUBE TO THE INTERNAL
MECHANISM OF THE HEAD ASSEMBLY BY INSERTING THE
CONNECTING PIN INTO THE HOLES.

3.CONNECT BOLT IN BOTTOM LATCH ASSEMBLY WITH
LOWER CONNECTING TUBE.
THEN, DEPRESS PUSH RAIL TO CHECK FOR PROPER
RETRACTION.
DO NOT LET BOLT IN LOWER TOUCH FLOOR WHILE
DEPRESSING RAIL.

: INSTALL FLOOR STRIKE
1.LET THE BOLT IN THE LOWER BOTTOM LATCH
ASSEMBLY TOUCH THE FLOOR AND MARK ON FLOOR.

2.DRILLA 5/8" DIA, 1" DEEP HOLE.

3.LET THE BOLT IN THE LOWER BOTTOM LATCH
ASSEMBLY INSERT INTO THE CENTER HOLE OF
FLOOR STRIKE AND MARK 3 ANCHOR / SCREW
HOLES ON FLOOR.

4.DRILL 3 ANCHOR / SCREW HOLES, 1/4" DIA,
11/8" DEEP.

5.HAMMER 3 ANCHORS INTO 3 ANCHOR / SCREW
HOLES.TIGHTEN UP 3 SCREWS.

@; TEST PUSH RAIL AND DOGGING

OPERATION
1.THE TOP LATCH UNIT SHOULD ENGAGE THE TOP
STRIKE AND THE BOTTOM LATCH UMIT SHOULD
ENGAGE THE FLOOR STRIKE WHEN THE DOOR IS
CLOSED.IF THE DOOR CAN BE PUSHED
OPEN WITHOUT DEPRESSING THE PUSH RAIL,
THE UPPER CONNECTING TUBE HAS BEEN
OVER ADJUSTED. ADJUST IT AS NEEDED.
2.THETOP AND BOTTOM LATCH UNIT SHOULD
DISENGAGE FROM THE STRIKES FREELY WHEN
THE ACTUATING RAIL IS DEPRESSED OR DOGGED
DOWN. IF THEY DO NOT DISENGAGE, ADJUST THE
UPPER CONNECTORS AS NEEDED AND RETEST FOR
PROPER OPERATION.

@ : INSTALL TWO ROD GUIDES

1.TAKE THE APPROXIMATELY MIDDLE OF UPPER AND
LOWER CONNECTING TUBE.
2.TIGHTEN SCREWS TO INSTALL ROD GUIDES.

MED200F SERIES

VERTICAL ROD TYPE EXIT
DEVICE WITH FIRE RATING




PARTS NAME

@ : CENTER LINE ON DOOR

MARK CENTER LINE ON INSIDE OF DOOR. HAVE
THE HORIZONTAL CENTER LINE OF THE DEVICE BY

IF DOOR IS LESS THAN 36", REMOVE A
END COVER AND CUT SECTION "A" 0)[% @)ﬂm

TO DESIRED LENGTH.

FIX THE CLAMP TO CONNECTING

1/4"x 1" (3 PCS) 1/4"-20P x 3/4" (6 PCS) TUBEIN MIDWAY

Anchor Flat Head @

5/32"x3/4" (3 PCS) 1/4"-20P x 3/4" (12 PCS)
Flat Head Round Head

DRAWING A LINE ACROSS HE DOOR 40” FORM FLOOR
LINE.

@ : DOOR AND DRILL HOLES

22 Thru Bolt (12 PCS) 1.FOLD AND APPLY TEMPLATE (A) TO EDGE OF DOOR
HEAD COVER . Wood Screws Machine Screws

AND MARK DOOR AS INDICATED ON TEMPLATE (A).
2.DRILL HOLES A X 6 THE DIAMETERS AS INDICATED

PUSH RAIL
ON TEMPLATE (A)

'3 INSTALL DEVICE BODY

1.LOOSEN SCREWS AND REMOVE HEAD COVER AND END
COVER.

2.ALIGN HOLES OF HEAD WITH THE HOLES ON THE DOOR
AND TIGHTEN SCREWS.

Top Strike Rod Guide (2PCS)

Floor Strike

Strike Plate

/\
=3
e © o

=

Q Spring Bolt S

End Cover Double Door Strike

Mounting
Bracket
J1
O © Connecting
Pin (2 PCS) Z Tube(Lower) Bottom
Connecting Latch
S Unit

Tube(Upper)

"4 ): INSTALL TOP STRIKE

1.ALIGN VERTICAL CENTER LINE OF TOP STRIKE AND
UPPER CONNECTING TUBE AS SHOWN ON TEMPLATE (B).
MARK DOOR AS INDICATED ON TEMPLATE (B).
2.TIGHTEN SCREWS TO INSTALL TOP STRIKE WITH
PROPER ADJUSTMENT.

DRILL A HOLE ON FLOOR WITH @ : INSTALL TOP LATCH UNIT

DOOR HAN DlNG 5/8" DIA,1"DEEP , AND ALIGN

CENTER OF BOLT IN LOWER BOX.

—_

. ALIGN VERTICAL CENTER LINE OF TOP LATCH UNIT AND
UPPER CONNECTING TUBE AS SHOWN ON TEMPLATE (B).

. INSTALLATION FOR SPRING BOLT & STRIKE PLATE MARK DOOR AS INDICATED ON TEMPLATE (B).
Note: If door is LHR, please refer to step 6
Note :1.If the door height below 87" then distance D is 44" from the floor. NOTE: BE SURE THE DISTANCE
2.If the door height below 87" then distance D is half of the floor FROM DOOR FRAME TO LINE
height.
W MUST BE 2"
Left Hanf:i -Reverse Right Hand-Reverse 2TIGHTEN SCREWS TO INSTALL TOP LATCH UNIT.
Orientation Orientation
a—— (—
Door Frame or Door
73/ .
S & ' 6 : CHANING HANDING OF DEVICE
g ~ HANDING OF DEVICE IS PRESET FOR RHR.TO CHANGE
i i . . HANDING OF DEVICE, FOLLOW STEPS SHOWN.
ol 3%
e = g 1.LOOSEN SCREWS 'A’ AND REMOVE SCREW
7 o B’ AND SPRING 'C.
LHR RHR 2.REVERSE THE POSTIONS OF SCREW B’ AND
D D
. SPRING ‘C’ AND THEN TIGHTEN SCREW 'A'.
(Left hand reverse) Outside (R|gth hand reverse)
3.THE DEVICE IS NOW SET FOR LHR.

Floor Line Floor Line




FOR RDC5R10 USE FOR RDC5V10 USE

FOR RDA5R00 USE - FOR RDA5V00 USE TEMPLATE(A)
2bpa J00p U0 1Y || 39/32"
— " -
e AN N VA 20P3/ 456
|
q v o 5/g" | FLAT HEAD Round Head
A | | | 1/4"-20Px3/4" x 3 /\/
r N Vi || i VA
. I | _
‘papiroid 21e|dwial Wiy paJisap A | : ~ A A 9/32"
a1 01 BuIp1odIe P3|ILP 39 - —~ . e
IS 3joy paiinbas wi JaY10 | _—] | (C{i \\ I[f)U\II:tL;{JA; kf;); cr:;nrfgg? e
2104 SIY [|p 20U Op UohE|Bsul : o A installation do not drill this hole
19pul|Ad A3¥ Inoyum §| #CE/LT I If other trim required hole must
Japullfo w10 /1 L 1IMa | be drilled according to the
| desired trim template provided.
N T | :‘v) P S
V // \\ | «Q // ~ io
N v N
A W / N\ ! e NS b A Y
N / \ | %) / \ A
3 ] \ ] \ <
—— e S -t e —“4———]—— —_—
\ ' \ I
\ / w \ / o~ '
VY B0 / N \ /
P SN @ > S P
o See _- g / Sl | _b- ~ A
) : 11/4" —
27/32"
-— \
JZE6 |y 1 $ |
| Va

N

1.Drill 'C’ screw holes of strike
on door and tighen screws.

|
|
|
|
|
|
: CAUTION: A
|
|
|
|
|
|

2.Drill ‘D" hole after proper
«8/5 T | adjustment and then tighten screw.
peaH punoy I
X, 7/EXd0Z- /1 : Fold on dotted line and
| fit on door edge
3SN 004SYAdY 404 : : 1SN 00ASYQAY 404
SN 01Y¥SOAY 404 L 1SN 0LASDAY 404

40" above floor line

S




TEMPLATE(B-2)

(A)For RDC5V10 Series (UL Listed)-Drill & tap for (6) 1/4"-20P x 3/4"
machine screws (4xD,2xE) for latches.

(B)For RDA5VQO0 Series (Fire Rated)-Drill 9/32" holes (4xD,2xE) inside
and 3/8" holes (4xD,2xE) outside for the (6) thru bolts.

Note: When installing top latch unit;

1. Drill (1) E hole and install screw but
do not tighten all the way.

2. Drill (2) D holes and install and
tighten screws.

3.Tighten screw in hole E all the way.

1/4"-20P x 3/4" x 2

/\ / E Rounp HEAD scREWS

O
< O BOTTOM LATCH
CAUTION : ~
BE SURE THE DISTANCE
FROM BOTTOM SIDE OF D ) q D
DOOR EDGE TO BOTTOM
OF BOTTOM LATCH UNIT Q
MUST BE 13/32” )

P 139/64" ¢

13/32
—>— 26/32"
A
y




TEMPLATE(B-1)

(A)For RDC5V10 Series (UL Listed)-Drill & tap for (6) 1/4"-20P x 3/4" machine screws (4xD,2xE) for latches.
(B)For RDA5VO0O Series (Fire Rated)-Drill 9/32" holes (4xD,2xE) inside and 3/8" holes (4xD,2xE)

outside for the (6)thru bolts.

CAUTION :
BE SURE THE DISTANCE FROM DOOR
FRAME TO LINE W MUST BE 2"

@\

3

1

G a

I~

G 1/4"-20P x 3/4" X 2
FLAT HEAD MACHINE SCREWS

e
N

ku@/

'

- W - _\_ - Frame Stop

FOLD ON DOTTED LINE
AND FIT ON DOOR

FRAME | |
F 1/4"-20P x 3/4" x 1 D D /4"-20Px3/4"x 4
FLAT HEAD MACHINE SCREWS ROUND HEAD SCREWS
CAUTION : DRILL"F"
HOLE AFTER LATCH BOLT v I — - LINEW
PROPERLY WORKS. i
— 139/64" | |—
© O
=
~ — — TOP LATCH
| | N
\/\ 1/4"-20P x 3/4" x 2
Note: When installing tOp latch unit: E ROUND HEAD SCREWS
1. Drill (1) E hole and install screw but
do not tighten all the way.
2. Make sure distance from door frame
to line Wis 2".
3. Drill (2) D holes and install and
tighten screws.
4.Tighten screw in hole E all the way.

A
/ ~— 1"

FOLD REVERSELY FOR
TOP STRIKE INSTALLATION




